2 3 4 5 6 7 8 9 | 10 1 12 h3 14 15 16 L7 18 19 20 21 20 23 24

Copying of this document and giving it to others ond the use or communication of the contents thereof, are forbidden without express

authority. Contravention of this resfriction will constitute on evident abuse ond result in a liability to the payment of domages. &l rights
are reserved in the event of the grant of palent or registration of o ufility model or design. This document is the subject of copyright.

Non e permesso consegnare o terzi ¢ riprodurre questo documento, ne ubilizzarme il conteruto o renderlo comunque mote o terzi
senzo auforizzozions esplicita. Cgni infraziong costituira un evidents ohuse @ comportera il risar ciménto dei darni subiti.

E'fotte riserva o futti i dirifti derivanti do brevetti o modelli.

Center brake disc — 171 —14
Mitte Bremsscheibe
Cenfre disque de frein
Centro del” disco di freno
- 213 - - %-3 - (18) - |
- 120.74£0.25 o . 77.5 e 126.5 _ 5 /gr//\g%l;ou%y%yer
71 104.5 | 2m sons cylindre
— - senza cilindro
QIT£0.25 | | g @ Tape has to be removed before assembling the actuator 475 (61.5) et L
Klebeband bei Montage des Bremszylinders entfernen —~ : - : -
Ruban adhesif pour montage du cylindre de frein pour enlever
ﬁ, Nastro deve essere rimosso prima di assemblore | attuatore |
= % s G,
f \ @ : ©\ - :
i
| N g - b
8)( / || comm— J fll.l — ] J'| S ‘
| . 0
| = Rs ? 1 Elilul <
P Z I
=] & R\@ MBS s o | ( —=
i | L L X1, \
(P ) R & [30.2 > | |
] il
A )\ ,@ fwmuwm;] N
- K \ | D ) | ﬁ_:;:f:—t\ ~ 7——"\4 i i
+ — L] i= - |
N KJ }5\ Qﬂﬂ?f [N]SR éif:j’\ ;
&) ] — L
S NS //%;a% @ S ~ - i
i Qo | ° |
— o o _ 4 L~ o
: : | © 1 : | p— } . N
s | ,
L | . S S
o o o ~ /7 0.08 o\
= oS =
"
v,
o0
o M1dx1.5 * 45
0.2 ' oty ] Ty - -
ki % \ g 2
8 = -~ - 1 ¥ E
('t
132 |
154.5
| | - . | |
.4
200 5
tightening torque width over flats note
Anziehdrehmoment SW Bemerkung
couple de serrage surplats remarque
coppia di serraggio misura chiave annotazione
brake mounting Bremsenbefestigung fixation du frein fissaggio freno
hexagon screw, oiled Sechskantschraube, geoelt vis a tete hexagonale, huilee vite a testa esagonale, oliate
M4 x 1.5 x ... - 10.9 M4 x 1.5 x ... - 10.9 M4 x 1.5 x ... - 10.9 M4 x 1.5 x ... - 10.9
@ 154 + 12.5 Nm 1 according to DBL9440.40 nach DBL9440.40 selon DBL9440.40 secondo DBL9440.40
- . . ‘ min. thread engagement min. Einschroubtiefe longueur de vissage lunghezza minima di
friction material Jurid_539-39 DIN 150 4762 length = 18" mm Laenge = 18 mm min. 18 mm awilomento = 18 mm
Belogqualitael durid 539-39 max. transferable max. uebertragbores couple de freinage maxi max. momento frenatura
qualite de garnifure Jurid 539-39 brake forque = 16000 Nm Bremsmoment = 16000 Nm transferable = 16000 Nm trasmissible = 16000 Nm
qualita della guarnizione Jurid 539-39
brake mounting Bremsenbefestigung fixation du frein fissaggio freno
hexagon screw, oiled Sechskantschraube, geoelt vis a tete hexagonale, huilee vite a testa esagonale, oliate
@ MIB x 1.5 x ... - 10.9 MIB x 1.5 x ... - 10.9 M4 x 1.5 x ... - 10.9 MIB x 1.5 x ... - 10.9
= @ 340 + 28 Nm 14 according to DBL9440.40 nach DBL9440.40 selon DBL9440.40 secondo DBL9440.40
min. thread engagement min. Einschraubtiefe longueur de vissage lunghezza minima di
‘ = = ] DIN 150 4762 length = 26 mm Loenge = 26 mm min. 26 mm avvitamento = 26 mm
IR WADED CITTTIT ] L j@z\é max. transferable max. transferable couple de freinage maxi max. momento frenatura
m m | - | /[ i \N\ uJ 1 brake torque = 16000 Nm brake torque = 16000 Nm fransferable = 16000 Nm frasmissible = 16000 Nm
// < — \x ' g D> <3> 20 &+ 2 Nm 17 pad hold down device MI1O Buegelbefestigung M10 barrette de maintien M10 dispositivo fissaggio M10
: \ /
_ 2] I 1L
| %3 @ . | fightening order Anziehreihenfolge ordre de serrage sequenza di serraggio
121 . @ 340 £ 20 Nm 14 1. long bolf 1. Bolzen lang lLooelong . vili lghe
¢ y / L /I_ c 2. short polt ~ "MTEMEIRE 5 Bojzen kurz M TEMTOR 1D axe court SRR 120 viti corte MM TRMeese RS
S
e =
S | ] W4 e = 68 + 5 Nm E D cover fixing Deckelbefestigung fixation couvercle fissaggio coperchio
@ g < | [T 1 1D \ WADED / 5.2 <> @ DIN 34800 - M1Ox1x40 - 12.9 |DIN 34800 - MIOx1x40 - 12.9 |DIN 34800 - MIOx1x40 - 12.9 |DIN 34800 - MIOx1x40 - 12.9
g g 2 g
= S g
é 3 ) < S 180 + 15 Nm @ 04 operation cylinder Betaetigungszylinder actionneur cilindro operatore
€ 8 = N @ M16x1.5 M16x1.5 M16x1.5 M16x1.5
Lo = ﬁln I ——— _qc.\_') —
B~ < 7 N Vr : \I\/ ~ %
INES \j Inmmi N g*é = <T> Detailed information for marking see 640 322 079 O DOC. CODE 922
2 e - = B2 Detaillierte Informationen zur Kennzeichnung siehe 640 322 079 O DOC. CODE 922
17 i 5 8 Des informations detaillees pour le marquage voir 640 322 073 0 DOC. CODE 922
s é ?: e i s Y é 3 Informazioni dettagliate per la marcatura di vedere 640 322 079 O DOC. CODE 922
S 3 | T ) =8 Y max. statical rotary outline
= @ 7 \[ <5 maximale statische Rotationskontur
= | _ I8 profil enveloppe maximal statique , _ wear indicator - -
O o : . : . connector type AMP 0-0282104-1
23 no mirror image \ s rotazione profilo massimo statico center line cylinder Verschieissanzeige Stecker Tyg VP 0-0082104-1
= f‘% EEQ ds}i)lﬁggtlab”iﬂversee | | F@ E 5 min. function stroke gﬂ;gemi}gilggegciionneur ndicateur dusure  comnecteur fype AMP 0-0282104-1
5 senza immagine riflessa T T @ ‘ >@ minimaler Funktionshub centro cilindro indicatore d'usuro connetiore fipo AMP 0-0282104-1
= I ’ T — 1T | | T ” ‘ course fonction minimale
- / J LJAJ \ \ min. funzione di corsa @ remaining lining thickness 2 counterpart: connector igpe AMP 282080-1
o e . Restbelagstaerke 2 (not supplied with brake
fitting dimension of the disc epaisseur garniture restante 2 Gegensiueck: Stecker Typ AMP 282080-1
| - - —J Scheibeneinbaumass spessore residuo postiglia 2 (nicht Bestondfeil der Bremse)
9 — 7 ‘ ’ aa—— dmension de_moniage du disque pendant: connecteur fype  AMP 282080-1
| ﬁJ_L — — quota fissaggio disco for storage and shipment (hon fourni avec le fryein)
@ brake disc new 25-0.2, wearcble up to 21 plé?‘:;, Trr(;]nnss[?(?rr’f el’;'nc‘ijila(?kggégng oggetto dl rISCOHfFO: connettore tipo  AMP 282080-1
disque neuf 25-0.2, a user jusqu a 21 | S
3 disco freno nuovo 25-0.2, usurcbile fino 21 2 @ I/ogr\::vaég”gr|§émmgz direction dimensions without folerances are gouge dimensions
o @ assembly dimension for broke pads sens de rofation morghe avant nicht folerierte Masse = Lehrenmasse
Einbaumass fuer Bremsbelaege rotazione in avant dimensions non folerancees = calibres - |
dimensione assemblaggio pastiglie freno
_ SIGNIFICANT CHARACTERISTICS
@ hexagon width over flats 8 o, WESENTL ICHE MERKMALE (=)
Sechskant SW 8 CARACTERISTIQUES SIGNIFIANTES
tete hexagonale (surplats 8) CARATTERISTICHE SIGNIFICATIVE
esagono SW 8
Produki-Spezifikation 640 317 001 O
product-specification 640 317 001 O MAXX Tr UNIMOG| — NABCD
_ _ Further Technical Cafas Date | Signofure
. oirror Image Doc. Code: Sheet: Ta Orcun Di braoke MAXX-range
coating 640 317 002 O |A 405 420 14 01 | 004 G mopeqebid TS 1y 20W-08-01 |  Bak | DC e
anti-corrosion profection - salt spray test min, 250 hours immogine riflesso Sg T (= mm) m14_08_01CheTked Henning gggﬁlbgntéirsegsée Ml\g/’;‘()ix_t?ge'he
Beschichtung 05 shown ) ) — . VIRAAY
Korrosionsschutz- Salzspruehnebelpruef. min. 250 Std. 640 317 001 0 |A 405 420 1301 | 004 | G we gozectnel |50 |80 |+ 400> ac0| <Z Ferning Pinza freno a disco tipo MAXX
pro’[ecnon de Surfoce come diseqnato e 0.5 10 15 20 Moss Scale Material No. |3D<2ce ggd:rst LZiueu:U ; 2012:3;)85;102
fenue BS 250 h min. ident-no brake customer no. brake type Medium 0 120 |30 |40 | +z | 262 19, ' =
‘ _ rivestimento o Ngfgrhern'cearmﬁe ﬁtswd%rﬁumrﬁr 768 CAD Al\xlsafrlijgrl]‘{gngeB;%Pnse Coarse 20 |35 50 [ 65 L i 040 317 001 O 033 | ML | 1/1
protezione contro la corrosione - prova di resistenza alla nebbia salina dopo ameno 230 h | ice materide freno . cliente versione. freno ;Opfimescfm S AO Pk [ LD 1§N1209 2;{8\”5‘0”0 ”2;;2” Replocement fo

quiorisation expresse. Tout mongquement o cette regle constitue un ohus evident &F expese son oufewr ou wersement de dommagas af

inferefs. Tous draits de propriete industrielle reserves, notamment en matiere de brevets et de modsles.
nicht ausdruecklich zugestonden. Zuwiderhandlungen stellen einen offensichtlichen Missbrauch dor und werpflichfen zu Schodenersatz.

Toute Communication ou reproduction de ce document, foute exploitation ou communication de son contenu sont interdites, souf
Alle Rechte fuer den Fall der Potenterteilung oder Gebrouchsmuster-Eintragung vorbehalten.

Weerqube sowie Vervielfaeltigung dieser Unterloge, Verwertung und Miteilung ihres Inhalts nicht gestaltel, soweit

2 3 . | 5 6 7 8 9 10 i 12 13 14 15 16 L 18 19 20 21 - o




